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QUESTION 1

The environmental variable oracle_Base is set to /u01/app/oracle and oracle_home is set to /u01/app/
oracle/product/12.1.0/db 1. 

You want to check the diagnostic files created as part of the Automatic Diagnostic Repository (ADR). Examine the
initialization parameters set in your database. 

NAME TYPE VALUE 

audit_file_dest string /u01/app/oracle/admin/eml2rep/adump background_dump_dest string core_dump_dest string
db_create_file_dest string db_recovery_file_dest string /u01/app/oracle/fast_recovery_area diagnostic_dest string 

What is the location of the ADR base? 

A. It is set to /u01/app/oracle/product:/12.1.0/db_1/log. 

B. It is set to /u01/app/oracle/admin/enl2randp/adump. 

C. It is set to /u01/app/oracle. 

D. It is set to /u01/app/oracle/flash_recovery_area. 

Correct Answer: C 

http://docs.oracle.com/cd/B28359_01/server.111/b28310/diag001.htm#ADMIN11008 

The Automatic Diagnostic Repository (ADR) is a directory structure that is stored outside of the database. 

It is therefore available for problem diagnosis when the database is down. The ADR root directory is known 

as ADR base. Its location is set by the DIAGNOSTIC_DEST initialization parameter. If this parameter is 

omitted or left null, the database sets DIAGNOSTIC_DEST upon startup as follows: 

If environment variable ORACLE_BASE is set, DIAGNOSTIC_DEST is set to the directory designated by 

ORACLE_BASE. 

If environment variable ORACLE_BASE is not set, DIAGNOSTIC_DEST is set to ORACLE_HOME/log. 

 

QUESTION 2

Which three statements are true about persistent lightweight jobs? (Choose three.) 

A. A user cannot set privileges on them. 

B. They generate large amounts of metadata. 

C. They may be created as fully self-contained jobs. 

D. They must reference an existing Scheduler Program. 
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E. They are useful when users need to create a large number of jobs quickly. 

Correct Answer: ADE 

 

QUESTION 3

In your database, the user SCOTT wants to retrieve the dropped HR.EMPLOYEES table by using the command: 

SQL> FLASHBACK TABLE HR.EMPLOYEES TO BEFORE DROP; 

What are three prerequisites for this command to succeed? (Choose three.) 

A. Undo retention guarantee must be enabled. 

B. No other table with the same name should exist in the HR schema. 

C. SCOTT should have the FLASHBACK ANY TABLE privilege. 

D. SCOTT should have the SELECT privilege on the HR schema and its recycle bin. 

E. No duplicates of the HR.EMPLOYEES table should exist in the recycle bin of the HR schema. 

F. The recycle bin should be enabled. 

Correct Answer: BCF 

 

QUESTION 4

Examine the command to duplicate a database: 

RMAN> DUPLICATE TARGET DATABASE TO cdb 

PLUGGABLE DATABASE pdb1, pdb5; 

Which two statements are true about the DUPLICATE command? (Choose two.) 

A. The SPFILE is copied along with the data files of the pluggable databases (PDBs). 

B. A backup of pdb1 and pdb5 must exist before executing the command. 

C. The DUPLICATE command first creates a backup, and then duplicates the PDBs by using the backup. 

D. The root and the seed database in the container database (CDB) are also duplicated. 

E. An auxiliary instance must be started with the initialization parameter ENABLE_PLUGGABLE_DATABASE set to
TRUE. 

Correct Answer: BE 

 

QUESTION 5
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The following parameters are set for your Oracle 12c database instance: 

OPTIMIZER_CAPTURE_SQL_PLAN_BASELINES=FALSE OPTIMIZER_USE_SQL_PLAN_BASELINES=TRUE 

You want to manage the SQL plan evolution task manually. Examine the following steps: 

1. Set the evolve task parameters. 

2. Create the evolve task by using the DBMS_SPM.CREATE_EVOVLE_TASK function. 

3. Implement the recommendations in the task by using the DBMS_SPM.IMPLEMENT_EVOLVE_TASK function. 

4. Execute the evolve task by using the DBMS_SPM.EXECUTE_EVOLVE_TASK function. 

5. Report the task outcome by using the DBMS_SPM.REPORT_EVOLVE_TASK function. 

Identify the correct sequence of steps. 

A. 2, 4, 5 

B. 2, 1, 4, 3, 5 

C. 1, 2, 3, 4, 5 

D. 1, 2, 4, 5 

Correct Answer: B 
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